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Parabola




Hyperbola





Circle
A straight line can intersect these graphs          y = mx + c
Solve simultaneously to find the points of intersection (a quadratic will be the result)

How many points of intersection are possible?
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Focus on the ALGEBRA skills for now.
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The point(s) of intersection are found by solving equations simultaneously
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(This topic is ‘Excellence’ level)

Algebra skills of factorising, 
or the quadratic equation may help.
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Find the coordinates of

the points of intersection 

of the line and parabola
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Point of intersection 

point of intersection 


points of intersection
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Discriminant
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Find the coordinates






Show that the line is a tangent 

of the points of 








to the circle and find the point 

intersection of:








of intersection
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A tangent line
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Discriminant
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Find the coordinates





Show that the line is a tangent 

of the points of 







to the hyperbola and find the point 

intersection of:







of intersection
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A tangent line
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Discriminant
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Intersection of a Line & Hyperbola 
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Intersection of a Line & Circle 
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Ex 7.03
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HW Theta pg 27 & 28





HW Theta pg 11 & 12 Done?
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Intersection of a Line Parabola 





Graph types (covered later)








How many points of intersection?
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